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QUESTION 1

A small-business customer needs to implement a high IOPS storage system for an application that uses approximately
7 TB of space. Because the customer does not expect a large amount of data growth in the next few years, they need to
minimize costs.

Which storage system should the customer implement?

A. HP 3PAR StoreServ 7400

B. HP 3PAR StoreServ 10000

C. HP 3PAR StoreServ F200

D. HP 3PAR StoreServ 7200

Correct Answer: D

QUESTION 2

A customer plans to migrate data from an HP EVA8400 Storage System to two HP 3PAR StoreServ 7400 Storage
Systems. The new storage systems must be configured to support connection redundancy. How many Service
Processors

must the customer deploy to support the solution?

A. One

B. Two

C. Three

D. Four

Correct Answer: A

QUESTION 3

A customer needs to migrate data to a new database environment. They need to make a physical copy of their data that
can be presented to the new environment with the highest level of availability. Which form of replication should the
customer use?

A. backups to disk

B. snapshots

C. clones

D. asynchronous replication

Correct Answer: C
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Incorrect: Not B: A storage snapshot is a set of reference markers, or pointers, to data stored on a disk drive, on a tape,
or in a storage area network (SAN). A snapshot is something like a detailed table of contents, but it is treated by the
computer as a complete data backup. Snapshots streamline access to stored data and can speed up the process of
data recovery. There are two main types of storage snapshot, called the copy-on-write (or low-capacity) snapshot and
the split-mirror snapshot. Utilities are available that can automatically generate either type.

QUESTION 4

A storage administrator needs highly available connectivity from a Microsoft Windows host to an iSCSI storage array.
The administrator needs to ensure that the data is still available in the event of a network port failure. What must the
administrator enable on the Windows host?

A. MPIO

B. NIC teaming

C. storage cluster services

D. ISCSI initiator failover

Correct Answer: A

QUESTION 5

A customer is planning to maximize the capacity of a new HP 3PAR StoreServ 7400 Storage System. Including the
base controller enclosures, what is the maximum number of disk enclosures that are supported?

A.5

B. 10
C.20
D. 26

Correct Answer: C
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The 7400 has two basic drive enclosures with 4 nodes an can add up to 18 additional drive enclosures, total 20. That
makes sense because the maximum number of supported disk is 480 / 24= 20.
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